CHAE - 1)

BE] ER - i
i | Gidid -t} aF I AL I TiE [ THIE | OATE ] | m=
P = =)
F6E B W ¥ &
1. JKPF9ER1E
G)YArE ForH
AE BN b (55400) M1 OX16m 0000 M./ ke 193 193 153
AEFEL P (55400) MI2ZX16m 0000 A, kg 177 177 177
AEFRAL P (55400) M1IOX20m 9000 M. ke 193 193 163
AERL L {S5400) M12X20m 0000 M, ke 175 178 178
B R R {55400) M14X20m 0000 M. kg 193 193 193
AEFA F(S5400) M16X20m 0004 M,/ k& 152 152 152
78 RAF {85400) M10X25m 0000 B ke 197 197 197
AARA R (S3400) M12X25m 0000 A kg 177 177 177
AR (S5400) M14X25m 0000 4., kg 193 1393 193
AARNF (55400) M1 & X2 5mm 0000 M ke 150 150 150
AKEFRM P (55400) M10X30mn 0000 L. ke 197 197 187
FRARA R (S5400) M12X30mm 0000 ./ kg 178 178 178
AR (S5400) M14X30m 0000 M ke 192 192 192
AL b (85400} M16X30mn 0000 M ke 151 151 151
RAFRA L (35400} M2 0 X3 0m 0000 N/ kg 151 151 151
AN+ (854000 M2 2X30mn 0000 A ke 166 156 156
AL b (83400) M24 X3 Omn 0000 A kg 161 161 161,
ABHEAE (55400) M10X36m 0000 B ke 197 157 191
EFA b (83400) M12X35m 0000 B ke 179 179 179
FAEFEA T (58400) M14X35m 0040 B ke 193 193 193
AMEHRAF (88400) Mi&EX35m 0000 B.-ke 151 151 151
AR {55400) M2 0 X3 5m 0000 M, ke 151 151 i51
FEFEAL L {85400) M2 2X3bm 0000 M. ke 156 156 156
AEHEA L (85400) M24X35m Q000 M./ ke 161 161 161
AR R (55400) M10X4Om 0000 A, kg 189 189 189
RBFAF (55400 MIZX40m () kg | B3 P65| JE-3-Pbb| &-10-b65
AR (55400) M14%40m 6000 H. kg 192 192 192
AEFN (85400 M16X40m 0000 kg 151 151 151
AERA B (§5400) M2Z0X40mm. 0000 M./ ke 152 152 152
AEAM (85400} M2 2 X4 0mn 0000 M. kg 156 156 156
FEF T (S5400) M10X45mn 0000 A ke 187 187 187
AR AV (554007 M1 2 X4 5m G000 M ke | B3 Pbb| =-3-Pab| E-10-P65
ki1 6_HEER (i xls 1/16
R EE (B : )
o it o S O T -y 7 B S TV B Y i
AEFEN b (85400} M14xX4B6m 0000 M ke 194 194 194
AR (55400) M16X4d5m 0000 M. ke 151 151 151
AAFENL | (88400) M18%X45m oooo A, ke 246 246 246
AEAFNAF (S5400) M20X45m 0000 F. ke 152 152 152
FREFRA b {55400) M2 2X45m 0040 H. ke 156 i56 156
AERLF {85400) M24X45m 0boo B ke 161 161, 161
FEFEL b {55400) M1 OX5Om ooco B kg 185 185 185
RE R F_ (55400} M1 ZX5 Omn 0000 kg | B3 P65] BE-3-P65| = 10-F65
AEHEA T (S5400) M14X5Om 00060 5.4 kg 193 193 193
A E(55400) M16 X5 Dmn 0000 9, %g § E-3-Pe5| HE-3-P65} B-10-P65
AEFEN P (55400) M18X50m 0000 M, kg 247 241 247
AAERN - (55400) M2 0 X5 Omn H008 O, kg | & 3 P65| & 3 P6b| @10-F65
AALV F_(55400) M2 2 X5 0m BO00 B, ke | & 3 P56] = 3 F66| & 10-F66
RERVF_(55400) MZ4 X5 0mn F000 B, ke | -3 PG| B 3 F6b| E-10-166
At (83400) M3 0 X5 Omn 0000 . ke 214 214 214
ABEAL B (85400} M10X5Emm 0000 M.~ kg 183 183 183
RAFNLF_(55400) M12 X5 6w 0600 ke | B—3-P65| E—3Pen| E-10-Pas
FEFN b (83400) M14X55m 0000 M./ ke 194 © 194 194
AEANF (55400) M16X55m 0000 M kg 151 151 151
A AL b (554000 M18xX5Em 0000 A, ke 246 246 246
AEF N {55400) M2 0X5Sm 0000 A, ke 162 152 152
FEHL T (85400) M2 2 X5 5mm 0000 B, ke 157 157 157
KA R (55400) M24X55m 0000 B/ ke 161 161 161
AAFN R (S5400) M30OX55m 00060 B ke 214 214 214
AR (55400) M10X6EO0m 0000 B ke 184 184 184
AR (55400) M12%X6 0mn 0000 ke | EE-3-P6b| Ei-3-P65| E-10P6h
AEFEL (85400 M14X60m 0000 F. kg 194 194 194
R AR (55400) M16X6Om 0000 [, kg | E-3-P6b| E-3-Pb65) B-10-P65
AR+ (55400} MIBX60m G000 M. ke 246 246] 246
7B R F_ (55400} MZ 0 X6 Omn 0000 B, kg | =3 P65| =3 F65] m-10-P65
~E AN b (53400) M2 2 X6 Om 6600 ke | =3 P6b| J= 5 766| m_10-F66
AT (55400) M2 £ X6 Omn GH00 M, kg | B3 P6b| =3 P66 m 10766
AEHA L (55400) M3 0X6 0m 0000 ke 214 214 214
AERL T {55100) M3 6 X6 0m 0000 M/ kg 238 238 238
AR (55400) M1CX6 S5 0000 3. ke 183} - 183 183
ARV _(55400) M1 2 X6 5mn 090 M, kg | =3 P65} = 3-P6b| m-10-P6b
FERN R (55400 M14X6 5m 0000 M. ke 192 193 193
AEFAL b (85400) MI16X65m 0000 B ke 151 151 151
k16 M ER iR I 2/16

177



(B4 F9)

178

BE[ B -
i R apr| sy | B TR T IATE | (AL Ll
AAFEAL L (S5400) M18 X5 G 0000 N ke |* 247 247 247
AT R (55400) M2Z0X65m 0000 B ke 162 152 152
AT (S5400) MZZ2X65m 0000 B, ke 156 156 156
AR R (35400) M24X65m 0000 B, ke 161 161 161
AEFAF(55400) M3 0 X6 G 0000 M. ke 214 214 214
AEFN T (35400) M36X6 5m 0000 M. ke 238 238 237
AR (35400) M10X7 Om 0000 B, ke 180 180 180
v (55400) M12X7 Om 0000 kg | B-3-P65] EA-3-PGb| B 10-P6b
A RA b (85400) M14X7Om 0000 .7 ke 194 194, 194
ARETN - (55400) Migx7 0Om 0000 kg | B 3 F65| J&-3-Pbb| =-10-P65
FREFEA F(55400) M18X7 0m 0000 M. kg 246 246 246
NE R~ L53400) M2 0 X7 0um 0000 9 kg | E-3-P65| H-3-P65| m-10-P65
A Ak (55400) M2 2 % 7 0m 0060 1 kg | Z-3-P6b| H-3-1'66| m-10-P66
AR ;. {55400) M2 4 X 7 0m 0000 1 ke | =-3-P66| H-3-P66| m-10-P66
~ATRLF (85400) M30X7 Oomn 00060 M. ke 214 214 214
AL [ (85400) M36X7 Omn Q000 M. ke 238 238 237
AEFRA B (55400) M10X7 5mm £000 B ke 179 179 179
AERM M (55400) M12X7 Som £000 M. ke | #¥-3-P65| B-~3-P66) B2-10-P65
A EN L (554003 M14X7 5m 000D B kg 164 194 184
REHRN (55400} M16 X7 b5m 0000 M. ke 151 151 151
AEFA R (35400} MI1BX75m 0000 .~ kg 246 246 246
AEENV T (55400) M20 %7 5w 0000 M ke 152 152 152
ABHRALF (55400) M22X7 5mm 0000 M. ke 157 157 157
AAFEAF (55400) MZ A X7 G 0000 M, kg 161 161 161
AEFL T (83400) M3 0X7 5m 0000 M. ke 214 214 214
7R b (85400) M3 6 X7 Smn 0000 B ke 238 238 237
FEEAF (55400) M10OX8 Omn 0000 M. kg | #-3-P53] H-3-P53| FH-10-P57
RBARN E(53400) M12X80m 0040 kg | B3 PB5| 23765 =-10-P65
FRABRA (55400) M14X8 Ome 0000 M. kg 223 223 3223
ANHRA FL55400) M1G6XEOom 0000 kg | BE-3-P65] -3 P6b| E-10-P65
A {55400) M18 X8 Om 0000 M. ke 247 247 247
AR R F_(55400) MZ0OXEO0m G000 M, ke | &=—3-F65| J=—3-P6b| =—~10-F65
AEAR I (55400) M2 2 X8 O0mn G000 M, ke | &= 3-Phb| j=-3-Pb6| =~10-F66
B R (55400} M2 4 XE Omm G060 H, kg | & 3-Po6| B-3-Po6| ==-10-766
AB/RN - (85400} M30X80mm 0000 M, kg 214 214 214
ABHRAE (S5400) M3 6 X8 0m 6000 M. kg 238 238 237
~AEA L (55400) M4 2 X8 Omn G000 M, kg 261 261 261,
AT {(55400) M10X85m 0000 M. ke 228 226 226
kk16_BEHRER i <is 3/16
BE] EMm FIR - H)
i i ap | a-p | B ETE T YETE | A Lkl
NE AR (55400) M1 2 X85 G000 B kg | &-3-P6h| EE-3-P65| B-10-P65
FARA N (85400) M14X85m 6000 B, kg 229 229 222
AR b (S5400) M16 X8 Em 0000 M, kg 152 152 152
AAFNF (55400) M18X85mm 0000 A, ke 247 247 247
AEFELF (55400) M2Z0XB 5m 0000 H.kg 152 152 152
ZAFA L {55400) M2 2 X 8 5mn 0000 M, kg 156 156 156
AAAr R {55400) MZ24X85m 0000 A, ke 161 161 161
AEARA | (35400) M30X85m 0000 B ke 214 214 214
AEFRA R (55400) M10 X9 0Om 0000 B ke | #-3-P53| #H-3-P53| #-10-P57
FRERA F_(55400) MIiZx80m 0000 kg | &3 PBb| EE-3-PB5[kE-10-P65
ABERM P (55400) M14dX90m 0000 M. kg 223 223 223
FBEFRN L (55400) M16 X9 0mn 0000 M, kg | B-3-F6b| HE-3-T65| EE-10-T6h
AAFR - (85400) M1B X9 0m 0000 M./ ke 246 246 D46
AARA T (55400} M2 0X9 0mm 0000 M, ke | #E-3-P6bl #E-3-P6b| o 10-Péb
Rk (55400) M2 2 X9 Omn 0000 A, kg | B-3-P66] P-3-P66| I 10-P66
AR F (55400} M24 X9 O0mn 0000 W, kg | %= 3 P66] 7 3-P66| - 10-Pab
FAARLF_(55400) M30X90m 0000 M. ke 214 214/ 214
AEFA T (55400) M3 6 X9 One 0000 M.~ kg 238 238 237
e (55400) M4d2X90m 0000 M. kg 261 281 261
AEFM L {§5400) M10X100m 0000 M, ke | #-3-P53| #H-3-Po3] H-10-P57
RE R (55400) MIZX1I00m 0000 kg | B-3-P6b| -3-PBb| Z-10-T65
B AL [S5400) M14X300m 0000 Fl. kg 223 223 223
B R F(55400) MIB%100m [ kg | B-3-P65| fe—3DPeb] B-10-P6s
B F (55400) M18X100m 0000 B, kg 247 247 247
AR~ (55400) MZ0X10O0m 0000 [0, kg | &= 3 Pbh| B 3 7P65] Ae10-F65
AR/ R (55400) M2 2 X100m 0000 5 ke | &= 3 PB6| B2 3 Pe6| B 10-F66
AR E (55400 M2 4 X 10 Oumn G650 M. ke | B 3 P66| F& 3 P66| B2 10 P66
AAERA (85400} M30X100m 0000 M, ke 214 214 214
AARA (55400} M36X100m 0000 M. ke 238 238 237
AERNL (55400} MA2X100m 0000 M, ke 261 261 961
ABERL b (55400) M48X100m 0000 M. ke 285 285 285
FEANM T (35400) M10x110m 0000 M. kg | $§-3-P53; $&-3-P53] $§-10-P67
ANHEHRN b (55400) M12X110mm 0000 B ke | #-3-P53] -3-P53[A-10-P57
AEFA b (55400) ML14xX110m 0000 M. ke 223 223 223
RAERA - {55400) MILEX110m 0300 ke | B3 P6b| J23-D65| IE—10-Pab
AEFEAF(S5400) M18>110m 0000 M, kg 247 247 247
AEFEA R (55400) MZ0 X1 Omm 0000 kg | mE-3-P65| $E—3-P65) B 10-PES
~AHEN b (55400) M22x110mm 0000 B2, ke 158 156 156
kk16_HE4ERE IR.x1s 4/16



(B4 : 19)

179

BE] Zm s e
ial i il i Ae TAIE | 11R1E Lk
AR (55400) M24X110mw 0000 A, kg 161 163 151
AR (88400) M30X110mm 0000 M. kg 214 214 214
REFAE (35400) M36X110mn 0000 M. kg 238 238 237
AR b (S5400) MAZ2X11Om 0000 M. ke 261 261 261
~HEA T (55400) M48%110mm 0poo B ke 285 285 285
ABAN D (55400) M10OX120m 0000 M, kg | F-3-P53i FF-3-P53| B-10-P57
ABRA R (55400) MI2X120mm 0000 0 kg | P4-3-P53] I-8P53| B-10-P51
ABFEAF(55400) M14X120m 0000 g, ke 223 223 223
AR R (55400) M16%120m 0000 M ke | FE-3-PB5| = 3-P6b| E-10-768
AEFEA - (55400} M18X120m 00060 A, kg 247 247 246
BTk (55400} MZOX 12 0mm 600 kg | B3 P8b| &= 3-P65| E=-10-P65
7B R I (58400} MZZX12 0mm 0000 kg | Fh—3 P6B| =-3-Pbb| @—10-P6b
FBE R (53400) M24X120m 0000 kg | #5-—3 P66| E=-3-Pbb| B-10-P66
ANARAE (53400) M30X120m 0000 M.~ ke 214 214 214
AARA R (55400) M36X120m 0000 0.4 kg 238 238 237
NEBAT (55400) MA42%x120m 0000 A, ke 261 261 261
AEFAE {53400) M48xX120m 0000 B, ke 286 285 285
AE AR {35400) M10X130m 0000 . kg | #-3-Ps3| FH-3-P53| H-10-P57
A FL b (S5400) M12X130mm ogon K, ke | #-3-P53| FE-3-PA3| #-10-P57
AEFENLF (55400) M14X130mm 0000 B, ke 223 223 223
FAARFN (55400 MIBX]1 35 Omm 0000 ke | BE-3-PGE| &3 Pob) =-10-P6b
FAEFRNE (85400) M18X130m 0000 M. ke 247 247 247
N R b (55400) MZ0X130m 0000 ke | B-3-P6b] 23 P6h| 2 10-P6b
ABEHAL R ($5400) M22X130m 0060 M, kg 156 156 166
AAEA L (55400} M24X130ms 0000 B ke 161 161 161
A FA b (55400) M30X130m 0000 B, ke 214 214 214
AR B (85400) M36X130m 0000 .7 ke 237 237 237
AR (55400) M42X130m 0000 B ke 261 261 261
A HA L (85400) MA8X130m 0000 M ke 285 285 285
AEEALF (55400) M10X140m 0000 M, ke | -3-PBE3| #H3-P63| H-10-P57
A b (55400) MI2ZX140mm 0600 kg | 3E-3-P53| 35 A Fh3|3m-10-P57
FERA L (55400) MLl4X%X140m 0000 M. kg 222 222 223
AE AL (55400) MiBX140m 0000 ke | B-3-P65| B—3-r6o] B-10-P66
AEFA T (55400 M18X140m 0000 M. ke 246 246] 247
R F(55400) M20X140m G060 M, kg | Ei-3-Pb5l @—3-P65| )e-10-PBb
AR F {55400} M22X140mm 0000 A kg 157 157 157
AEEA R (55400) M24X%140m 0000 B ke 161 161 161
BB F(55400) M30X140m 0000 9. ke 214 214 214]
k16 SRR i xls 5/16
5 i CE B
i il o o ) i 1H1E 7HIA | 1THI1R Ll
AE RN b {s5400) M36X140m 0000 M, ke 237 257 237
AEEAF (55400) M42%x140mm 0000 A/ ke 261 261 281
ARAEN T (55400) M4 B8X140m 0000 M. kg 285 285 285
AARA T (55400) MIOX150mm 0000 K. kg | #-3-753| #§-3-P53| #-10-P57
7l A T (55400) M12X150m 0050 M kg | #H-3-Pb3| 3R-3-Pba| 7H-10-P57
AEFA (55400} M14x150m 0000 M. kg 223 223 223
B AT (55400} M16X1b0m 0000 ke | E-3-P65| = 3 P6h] B-10-P6h
7o A (55400} M18X150mm 0004 M. ke 247 247 247
FA RN (55400) MZOX15 Omm 0000 kg | EE-3-F65] &3 P65|kE 10-F65
SEFA (55400 MZZ2X15 Omm 0000 ke | B-3-Poh| ra-3P66| B 10-PB6
AN /v F(55400) M24XT5Omm 000 ke | BE-3-D6h| -3 P66) E-10-PBB
AEFA L (55400} M30X150m 0000 M ke 214 214 214
A FEN T (55400) M3IEX150mm 0000 M. ke 238 238 237
FAAEFEA R (55400) M4 2X150mn 0000 M. ke 261 261 261
AE#EA L (55400) M4 8X150m 0000 1. kg 285 285 285
AEEA T (55400) Mi0X160m 0000 . kg 226 226 226
ANEHA T (85400) M12xX160m 0000 . ke 228 228 228
FH AR (55400} M14X160m 0000 M. ke 223 293 223
AARN b (55400) M16X160m 0004 M., kg 199 199 199
AEFRNF(85400) M18X160mm 0000 A kg 218 218 218
BB R (85400) M20X 16 0m 0000 B ke 199 199 195
e AL (55400) M22X160m 0000 M. kg 204 204 204
AR (83400) M24X16 0w 0000 B ke 214 214 214
SEANA T (55400) M30X160m 0000 M, ke 214 214 214
AARA T (55400) M36X160mm 0000 M. kg 238 238 237
AT (55400) M4 2X160m 0000 M. ke 261 261 261
R b (55400} M48X160m 0040 R, kg 285 285 285
ANEEL T (55400) M10X170m 0000 0. ke 234 224 224
AAaFN b (§5400) M12%x170m 0000 M. kg 227 227 227
AN b (55400) M14X170m 0000 M.~ ke 223 223 223
AR R (55400) M16X170mm 0008 B ke 198 199 109
EAAE (55400) M1 8XE7C0m 0000 . ke 218{ 218 218
AHFEL L (S5400) M20X170m 0000 5 ke 199 199 198
ARFEA T (55400) M22X170mm 0000 M. ke 204 204 204
ASEFEA P (85400) M2AXL70mm 0800 . kg 214 214 214
AR (55400} M30X170m 0000 M. ke 214 214 214
AR (55400} M36X170m 0000 H. kg 238 238 237
kk16_ M HREE i xIs 6/16



(B {fi = B3)

180

= HBE il .

S il -} :%F B e THIH | T1A1H ik
AEFRN P (55400) M42X170m 0000 M kg 261 261 261
AR R (S5400) M4B8X17Omn 0000 A, kg 285 285 285
AAEF R (55400) M10Xt 8 Om 0000 M. kg 225 225 225
AN - (55400) M12X1B8B0m 0000 M. ke 228 228 228
AEFEN P (85400) M14X180m 0000 M. ke 223 223 223
AAHANL T (55400) M16X180m 0000 A ke 199 199 199

CAEFEAL R (58400) M18X180m 0000 M. ke 218 218 218
AE RN (55400) M20X180m a000 kg | d-3-Fos| TH-3-P53] iR 10-P57
ARAR L (55400) M22X180m G000 ke | 45 -3 Pb4| 7& 3 Pbd] iE 10-Pb8
AAE AT (65400) MZAX180m 0000 Kg | 3E-3-Pb4| 28 5 Pod|%e 10 P68
REFAL T (55400) M20xX18Onm 0000 M. ke 214 214 214
FAFEA (55400} M3I6E6X]180mm 0000 .- ke 238 238 237
AL R (55400} M42X18Omn 0000 M. kg 261 261 261
NAFN B (85400) M4BX18 Cm 0000 M. kg 285 285 285
AEFA - (55400) M10X190m 0000 M.~ ke 226 226 226
AR (85400) M12X19Omn 0000 M. kg 228 228 228
FEAA R (55400) M14xX190m 0000 B ke 223 223 223
ABFEA L (55400) M16XxX1%0m 0000 [ ke 199 199 169
A b (85400) MIBX190m 0000 K.~ ke 218 218 218
ARERA R (85400) M20X19 O 0000 B kg 199 199 399
AR {55400) M22x190m 0000 M. ke 204 204 204
7Bk (55400) M24X190m 0000 M./ kg 214 214 214
AE A B (58400) M30X190m 0000 M ke 214 214 214
ARFEN P (55400) M36X190m 0000 M. ke 238 238 237
RAREAF (58400) M42X190m 0000 M. ke 261 261 261
~AEARAE (55400) MA48X190m 0000 g kg 285 285 285
AEFA L (58400) M10X200mm 0000 H./ ke 226 226 226
AR (85400) M12X200mm 0000 . ke 228 228 228
AEFN (55400} M14X200mn 0000 kg 223 223 223
AR (55400} M16X20Cm 0000 M, kg | B-3-PE3] #F-3-Pe3[#H-10-P57
FEEAL T (85400) M18X200m 0090 M. kg 218 218 218
75 RV F_(33200) M2 0X20 Cmn 0000 kg | A3 Poa| a4 Ph3| 7 10 PBT
BRI b (53400) M2 2X200m 0000 kg | #$H-3-Pb4| 35 3 Pb4| FE-10-Pb3
N e I (39400) MZAXZ0 Omn 0000 H 7%g | #-3Pbd| 3 DGa| 15 10-P58
A EA F {(55400) M30X200m 0000 B kg 214 214 214
AEFRAF (85400) M3 EX200m 0000 B ke 238 238 237
AR F{55400) Md42X200m 0000 M. ke 261 261 261

kk 16 3 HkER s 7/16
W =5 R
il il i B g THIA [ 11E1A =
AR+ (55400) MAEBXZ200mm 0000 . ke 285 285 285
AEFENV P (55100) M4 2X220m 0000 M. ke 261 261 261
AAFNL M (55400) M48X220m 0000 M. ke 285 285 285
AR (55400) M4 2X240m Q000 A kg 261 261 261
AR T (855400) M4 8x240m 0000 M. ke 285 285 285
ANERA (55400} M4 2X260m 0000 M. kg 261 261 261
FE Ak (35400) M4 8X 26 0mm 0000 B ke 285 285 285
AAENL T (55400) M42X280mm 0000 M. ke 261 261 261
AAFAE (55400) M4 8% 28 0nn 0000 M. ke 285 285 285
AT (55400) M4 2X30 0o 0000 M. ke 261 261 261
B R R (88400) MA8X300m 0000 M. ke 285 285 285
AEAAF {SUS304) M8 X 2 Om 00060 M. kg 706 706 706
SERN E {5U8304) M10X20Omn 0000 H.- %z | #&-3P68| B-3-P68] B-10-P68
FREFRAF(SUSI04) M12X20m 0000 B kg 713 713 713
AEFAF(SUS304) M8 X 2 Emn 0000 15, ke 707 707 707
AAFENF (SU304) M10X25m 0000 M. ke | B-3-Peg| B-3-Pe8| B-10-P68
ABAEAL B (SUS304) M12X25m 0000 B ke 711 711 711
AEFEAL T (SU5304) M16XZ25m 0000 M. ke 664 §64 664
AEAF b (3US304) M8 % 3 Cmn 0000 M. ke 712 712 712
AR (5U5304) M10X30m 0C00 M. kg | EE-3-Ps8| Z2-3-P6Ri g&10-P6S
AfEFEL T (SUS304) M12X30m 0000 M. ke | #-3-Psg| B-3-Pes| E-10-P68
AR (SUS304) M16X3 Do 0000 M./ kg 664 664 664
B I (SUS304} M8 X3 5mn 0000 B/ ke 709 709 709
AEFRLF (SUS304) M10X3E5mm 0000 M. ke | B-3-P68| E-3-Psg] Ei-10-P68
~fEL + {5U8304) MI12X35m 0000 N, ke | H-3-P68| B 53-PER[E-10-P6R
AERNL B (SUS304) M16%X35mm Qogo0 A, kg [ BA5 665
REAAF (SUs3e) M8 X4 0m 0000 H. ke 709 709 709
AEHEN b (SUS304) M10X40m 0000 K. ke § #-3-P68| E-3-P68) B-10-P68
AERA F (SUS304) M12X40m 0000 B, kg | BE-3-P6s| EH-3-Pes| E-10-P68
AAHFEL T (S03304) M16X40mn 0000 B ke 664 664/ 664
AEFL b (5US304) M20X40mn 0000 M, ke 711 711 711
AR (SUS304) M8 X4 5m 0000 M. ke 708 708 708
SR AN (SUS304) M10 X4 5m 0000 M. kg | #-3-Pe8| ¥-3-Pes| B-10-F68
AEFENE (8US304) M12X45m 0000 M. ke | B-3-Psg| E-~3-Pegf B-10-P68
A b (SUs304) M16X45m 0000 B, ke | E-3-P58| E-3-Psg] B—10-Pa8
FEEA b (S55304) M2 0 X4 5mm 0000 M. ke 705 705 705
kk16 MR x5 8/16



(BAE - 1)

BE[ Efm
i il 3-pT ) o}t B 4H81H TH1R ¢muﬁ_l 10 {ad
FHAEA (8U5304) M8 X5 Omo 0000 B/ ke 711 711 711
ABAA T (SUS304) MIO0X5 Omm 0000 [ 712 712 712
AARA R (SUSI04) M12X50mm 0000 M. kg 711 711] #-10-P68
AAARA T (SUS304)} M16 X5 Qmy 0000 M. ke | #-3-P68] E—3-Pes|&-10-P68
AT (5U8304) M20X50m 0000 B ke 708 708 708
AEHEALF (SUS304) MBX5 5mm 0000 ke 710 710 710
AEAL - (5US304) M10X5 5m 0000 ke 712 712 712
AEAEFNL (SUs304) M12X55m 0000 M. kg | E-3-P68| #-3-P68| E-10-P68
AAEFRNVE (SUS304) M16X55m 0000 M ke | B-3-Pes| #-3-p6s| B-10-P68
AEAL B (SUS304) M20X55m 0000 H. kg 7085 705 705
AEHRA+ (SUS304) M8 X 6 Omn 0080 M. ke 711 711 711
AR (SUS304) M1O0X6O0m 0000 B.Ake 710 710 71¢
AAFEL T (8US304) M1 2X8 0Dmm 0000 B kg | B-3-Pes| E-3-P68| B-10-P68
AEFEM T (SUS304) M16X6 Omn 0000 B, ke | B-3-Pe8] B-3-Pos| BE-10-P68
AAFE (SUS304) MZ20X6 0mn 0000 H.-ke | B-3-pe8] E-3-P68] B2-10-P68
AEAA b (SUS304) M8 X 6 5mm £000 M. ke 710 710 710
AL b {SUS304) M10 X6 5mm 000 M. ke 711 711 711
AEHAF (SUS304) M12 X6 5m 6000 M. kg | B-3-P68| E-3-P68|EE-10-P68
Ff HA kb (SU8304) M16 X6 5m 0006 M, kg | #E-3-P68| B-3-P68| B-10-P68
AEHRAL R (SUS304) M20 X6 5mm 0006 A, ke | B-3-Psg| Ek-3-pes| #-10-P5§
~EHRA T (SUs304) M8 X7 0mn 0000 9, kg 712 712 712
AR (SUS304) Mi0X70m 0000 M. kg 712 712 712
ABEA N (5US304) M12X%X7 0mn 00600 B/ ke 712| 712 712
RN+ (SUS304) M16 X7 Omn 0000 [, kg | &-3-P68| E-—3-P68| B2-10-P68
~HAFRNVE (SU5304) M20X 7 Om 0000 O, kg | B-3-P68| HE-3-P68] B-10-P68
AEFRN - (508304) MBX 7 Smn 0000 M. ke 0| - 710 710
AREFEA R (SUS304) M10OX76mn 0000 . ke 712 712 712
AAFEN P (S5US304) M12X75m 0000 B, kg 712 712 712
AEANF (SUS304) M16X7 5mn 0000 K. kg 663 663 563
NEAL T (SUS304) M20X7 5mm 0000 B, kg | E-3-P68] B-3-P6s| BE-10-P68
A AN (SUS304) ME X8 Omm 0000 M. ke 110 710 710
AAFE {8Us304) M10 X8 Omn 0000 B kg |~ 711 711 711
AR {5U8304) M1 2 X8 COou 0oop M. ke 712 712 712
AERA T (505304) M1 6 X8 Omn 000C M. ke 661 661 661
AEFNL R (SUS304) M20 X8 Om 0000 M. ke 710 710 710
AR E (5US304) MIO X8 5mm 0000 M. ke 710 710 710
kki6 B RRE W xls 9/16
] C4 - P
ES i | - | B iTE T 7EIE | LAIA i
AAEEAL R (SU5304) M12X85m 0coo B ke 712 712 712
AAFAL - (5U8304) M16 X8 5m 0000 M. kg 663 663 663
AEFELF (SUS3ne) M20X8 5mn 0000 M, ke 710 710 T10
AAEFL R (SUS304) M8 X9 Omn 0000 M. kg 712 712 712
FCE R (5US304) M10X90un ooco M./ kg 711 1 711
ANARN N (SUS304) M12X90m 0000 B kg 712 712 712
AEFEAL L (SUS304) M16X9 0m 0000 B/ ke 659 £5% 658
AR b {SUS304) M2 0 X9 0mm 0000 H-ke 710 710 710
AEFA M {5US304) MEX10 Omu 0000 B ke 711 711 711
NE R R (SU8304) M10x10COmm 0000 M. ke 711 71t 711
~EFEA R (SUS304) M1 2X100mn 0000 M. ke 712 712 712
AEFEA R (5US304) M16X100m 0000 M.~ kg 663 663 663
AR (5U5304) M20Xx100m 0000 M. ke 709 709 709
MEA B (5U5304) M1 0GX35m 0000 M. ke 1,670 1,670 1,670
maA F (sUs304) M12X35m 0000 M, ke 2,000 2, 000 2, 000
AN - {SU5304) M16X35m 0000 M kg 2, 160 2, 100 2, 100
A A R (5U5304) M10Xd4O0mn 0000 M, ke 1, 610 1,610 1,610
MAEA T (SUS304) M12X40m 0000 M, ke 1, 860 1, 860 1, 860
MAEL P (SUS304) M16X40m 0000 H. kg 1, 940 1,940 1,940
MENL (5U5304) M10X45m 0000 B kg 1,530 1, 536 1, 530
AN b (SUS304) M12X4E5m 0000 g ke 1, 88C 1, 880 1, 880
MaAA b (SUS304) M16%X45m 2000 B ke 1, 940 1, 940 1, 940
MR Ak (8US304) M10X5 Cmn 0000 B ke 1, 500 1, 500 1, 500
LA+ (SUS304) M12X5Cmn £000 M. ke i, 800 3, 800 1, 80O
IEA b (SUS304) M16 X5 Omn 0000 g ke 1, 890 1,890 1,890
TEA T+ (5US304) M10X55m 0000 M. kg 1, B40 1, 540 1, 640
ANk (3US304) M12X55m 0000 M. ke 1, 890 1, 850 1, 890
MAA - (5U5304) M1i6x55m 0000 M./ ke 1, 520 1, 920 1, 820
MR b {S5US304) M10X6 Omn 0000 B, ke 1, 530 1, 550 1,590
MAA F {SUS304) M12 X6 0m 0000 1. ke 1, 800 1, 800 1, 800
LA+ (SUS304) M16 X6 O0mm 0000 M, ke 1, 830 1,830 1,830
AL B (SUS304) M10X6E5m 0000 M kg 1, 560 1, 560 1,560
M (5US304) M12X65m 0000 M. kg 1,770 1, 770 1,770
MAEA b+ (5US304) M16 X6 5mm 0000 . ke 1, 820 1, 820 1,820
B/ b (5U5304) M10X7Cmm 0000 B, ke 1, 640 1, 540 1, 540
mAA F (sUs300) M1 2 X7 Cmm 0000 M. ke 1, 790 1,790 1,790

181

Kk 16_BE4R AR I x)s 10/16



(AT & )

BX] ¥& N )

s R B v oot orre Pinams %
AL R (3US304) M16X7 Oon 0000 B ke 1, 770 1,770 1,770
MR P (SU5204) M10X75mm 0000 M. kg 1, 550 1, 560 1, 550
AL (SUS304) M1 2X7 6Gmm 0000 B kg 1, 700 1, 700 1,700
MAA F (SUS304) M16X75m 0000 P/ ke 1,720 1,720 1; 720
MAEA F (505304 M12 X8 0m 0000 B ke 1, 650 1, 650 1, 650
MAA F (SUS304) M1BX80m 0000 B/ ke 1, 770 1,770 1,770
+ > b (55400) M8 0060 [ M ke 202 202 202
F o b (58400) M10 0000 M. ke 203 203 203
F = b (§5400) M1 2 0000 M., ke 206 206 206
F» b (85400) M1 4 0000 M./ kg - 198 198 198
F+ = b (55400) M16 0000 M. ke 162 162 162
F = b (85400) M1 8 000 A ke 220 2201 220
Fw b (55400} M2 0 0000 M ke 169 16% 169
+ = b {88400} M2 2 0000 M./ kg 176 176 176
F o b {85400) M2 4 0000 M. ks 228 226 226
Fw b {55400) M30 0000 F.~kg -246 246 246
+ o b {85400) M3 6 0000 M. ke 260 260 260
v b (55400) M4 2 0000 M. ke 347 347 347
J-w b (55400) M4 8 0000 M. ke 372 372 372
-+ + (5B5304) M3 0000 M, ke 347 847 847
S w b (5U3304) Milo0 0000 M. ke 1, 008 1, 008 1, 008
5w b (SUS304) M1 2 0000 A ke 1,084 1,084 1, 084
F+ b (SUS304) M14 0000 B~ ke 1,388 1, 388 1, 388
+ o bk (5US304) M186 0000 B/ kg 905 908 905
F v b (5U8304) M18 0000 B. ke 1, 382 1,382 1,382
F = b (SUS304) M2 0 0000 B, ke 1, 77 1,077 1, 477
Fw k (SUS304) M2 2 0000 M. ke 1, 559 1, 559 1, 558
+ b (5US304) M2 4 0000 . kg 1,491 1, 491 1,491
3w | (5U5304) M2 7 0000 M kg 1, 489 1, 489 1, 489
+» F {5US304) M3 0 0000 M. ke 1, 486 1, 486 1,486
+ k {SUS304) M3 6 0006 M, ke 1,573 1, 573 1,573
+w + {SUS304} M4 2 0000 . ke 1, 641 1,541 1, 641
#F o k (35400) M8 0000 M. ke 431 431 431
# » b (585400} M10 0000 M, ke 380 380 380
&) > b {55400} M12 0000 M. kg 387 387 387
£+ w kb (88400) M1 4 0000 A ke 593 593 503

kk16_BEHE R xs 11/16
R ET (iR ; /3

=] BT

ko i o ol I A 1E1H THIE | ITHTH ks
¥t w I (55400) M16 0000 M, ke 455 455 455
£k (385400) M20 0000 M ke 583 583 583
£ b (85400). M2 2 0000 B ke 621 621 621
Fr v k(85400 M2 4 0060 . ke 782 782 782
Frw b (55400 M2 7 0000 B kg 966 966 956
253w 1+ {5U5304) M 8 0000 B, ke 2, 444 2, 444 2, 444
- » b {8US364) M10 0000 M. ke 2, 423 2, 423 2, 423
> - (3US304) M12 000 M. ke 2, 401 2, 401 2, 401
£~ b (SUS304) M1 4 0000 M, ke 3,074 '3, 074 3, 074
£ o b (5US304) M1 6 0000 M. kg 2,658 2, 658 2, 658
£+ v b (3US304) M2 0 0000 M. ke 2,848 2, 848 2, 848
B« k (5U5304) M2 4 000e K .<keg 2,789 2,789 2, 789
JERFE A b (55400) M12X160m 0000 B/ kg 352 352 352
I BERFELF (S5400) M16X160mm 0000 M. ke 252 252 252
I BEBAL b (85400} M12X200m 0000 ke 313 313 313
T FeEBER A |k (58400) M16%X200mn 0000 M. ke 226 226 226
JREEREE A b (S5400) M20X200m 0000 A kg 258 258 258
T EEERA | (55400) M12X25 0mn 0000 H. kg 319 319 319
T EREEAF (85400) M16X250m 0000 M, ke 210 210 210
FREERA P (85400) M20X2650mm 0000 M. ke 242 242 242
J EEEEA > {85400} M12X315mm 0000 B/ ke 304 304 304
TIBERAL | (55400) M16X315mm 5000 M ke 200 200 200
JHEmEA F (55400) M20X315m 0000 M. kg 228| . 228 228
I FEAEEF L T (S5400) ME2X400mn 0000 M, kg 276 276 276
J REFEARA b (55400) Mi6X400m 0000 A, kg 182 192 192
TREREA F (55400 M20%x400m 0000 0. kg 214 214 214
JEEBEL P (S5400) M12X500m 0000 M. ke 264 264 264
I MERR A N (85400} M16X500m 0000 M/ ke 182 182 182
JHEEERN b (S5400) M2Z20X500m 0000 M, ke 203 203 203
JREEFEA L (55400 M24X500mn 0000 M. kg 202 202 202
J REERR A+ (55400) M20X630m 0000 A ke 203 203 203
T EREAR L+ {S5400) M2 4 X630 0000 15 ke 205 205 205
I REREA b (83400) M20%X800m Q000 B ke 192 192 192
J BEEGER  (55400) M24X800mn 0000 B/ kg 194 194 164]
JEEEAEL b (55400) M2GX1, 000m 2000 B/ te 188 188 188
J AR+ (55400) M24x1i, 000m 0000 . ke 185 185 185

182

kk16_ 4 {5 xls 12/16



(B - )

o HE] =W ot e R
i i | = | P CETE T 7EIE ] AR i
J R F (55400) M24%x1, 250m 0000 H/ kg 188 188 188
LFEEBAL b (55400) M12X160m 0000 M, ke 374 374 374
LEERE L (55400) iM12X200m 0000 B kg 331 331 331
LA b (85400) M18X200m 0000 M. ke 254 254 254
LR b (55400) M12X250mm 0000 M. ke 295 295 235
LEEFERNV b (55400) M16X250m 0000 . ke 225 225 225
LEEREA b (85400) M12X%X315m 0000 M. ke 274 274 274
LEEEREA F (55400} M16X315m 0000 M./ ke 216 216 216
LA ERERA b (85400) M20X315m 0000 3./ke 220 220 220
LBEEBAA F_(55400) M12X400m 0000 H. ke 259 258 255
LIGERL b {55400) M16X400m Q000 M/ ke 205 205 205
LI ERAN {55400 M20X40 0 0000 M./ ke 210 210 210
LEEREEN + (85400) M12X500m 0009 M, kg 236 236 236
LEERER A b (55400) M16X500m 0000 kg 189 189 189
LgE#E A+ (S5400) M20X500m 0000 0. kg 197 197 187
2) &tn - eEEDE
F -7 ¢ 110~120 PLESERAS  SC450 0000 i, kg 510 610 610
| _FZLh¥y— BRFEMESE R SC450 0000 M ke 610 610 610
FREIREY— (F—af) RS & 5C4B0 0600 B ke 610 610 610
FEge-F— ¢ 110~120 Exvi’ vEREMS  SCM2B 0000 B ke 700 700 760
Fe—7—-4$110~120 A e AFEESRS  SCMnCr3B {0000 FH. kg 805 805 805
Eo—F—$110~120 JRAE) T 7RSS, SCCrM3B {0000 B ke. 708 705 705
ASATRAEN v A EEEY PRC2 0000 M. ke 2, 300 2,300 2,300
SR A SN - BREIAF A s EeREEd  1BCY 0000 M. ke 2, 000 2, 000 2, 000
B A Z N - WRBA F FiREEY BC 3 0000 M.~ ke 2, 000 2, 000 2, 000
HREERES, BE h¥HEEgR  PC200 0000 M ke 530 530 530
R . RTheEs  FCoR0 0000 M kg 530 530 530
e RTAEEES  FCI50 0000 M kg 530 530 530
BAPAS R HRBMEHS FCD450 6009 M. ke 935 935 935
FRT hiAngEgkda (4%) FCc250 (0000 B, ke 599 599 599
TI TR R oiekd (47)  Fcaso [ogoo M, ke 665 665 665
AT (B ) PTLEEeka (A7)  FC250 (0000 H. ke 323 823 823
kicl6_BEER i .xIs 13716
AR 3 LE L)
ik i 2| 3} i Y TH1H | 11ALR w5
M sk EME s (18)  FCDM00 - 450 |0000 M, ke 927 927 927
FHRH R RESREES L SC450 0000 M. ke 3, 060 3, 060 3, 060
Ho TV T REMEM S 5C450 0000 . ke 1,290 1, 200 1, 200
ERYT (THRE R 397 0 - b)) RIS blasy 2000 M, m3| 151,000 151,000] 151,000
‘) 1. LohEn, A0E, BE, RAVHGeRn60OET o,
2. LRk LAEE L, FEROoHENER LTS,
3. ARHOBEHEEmMmIZTS,
3) AT AHE - E BEAEREHRM
G MELEATYVASIRE  ~ i |SUs30o4 2=t =3 0000 M ke | #-3-P47] B-3-P47hBI-10-P42
AR EEREATAVABIE  ~ —2dhifE  [SDS304 3= t <6 0000 B ke | B-3-P38] FH-3-P38| F-10-P42
B AT A ~ - [SUS304 105 £ 14 0000 i, ke | #-3-Pas| #f—3-p3s
ShEEEATAASR B SUS304 6 t <10 0000 H. kg 10 10 10 N2 3 L 56
SR ERERTVVASIRE ikl SUS304  14<C 1 £25 0000 R ke ie 10 10 vz 105 t 514
A EREATVAERR  tiAE 508304 25< t Z40 0000 M. ke 20 20 20 a0 t <14
BAM ATV SRR x3rbTE SUS304  40< t $65 0000 M./ ke 30 30 30 -2 0= t=14
| TAF L AEE ~ M SUS304  26= ¢ =100 0060 3 kg | &-3-Pi8| #-3-Pa8| BE-10-P48
AU AGEE  sinbrE SUS304  100< ¢ =150 0000 A, kg 20 20 20 nox 265 6 S100
AT VAR iR }5E SUS304  160<C ¢ <200 9000 M. ke 30 30 30 3 255 4 =100
A7 L ABE  ~ AR SUS403 255 ¢ £100 0000 1 kg 310 310 320
A5V AGE  TiAlE SUS403  100< ¢ =150 0000 A, ke 20 20 20 -1 255 4 5100
AT AGE  E SUS403  150< ¢ £200 0008 H. kg 30 30 30 -1 3= s =100
R R R oAt~ Mg |S16C~SB0C_ 26= ¢ =100 0000 kg | B-3-Pi9| B-3-Pi8| F{-10-P4d
HRaERAEREM  3xFE [S1c~B850C  190< ¢ =150 0000 B, ke 2 2 2 A -3 26 ¢ Z100
EREEHREREHE 3278 [S15C~850C 150 ¢ <3200 0600 A ke 4 4 4 A=A 355 ¢ H100
e F RS 327 {S16C~550C  200< ¢ 250 0000 M. ke [ 6 [ v 3 255 ¢ <100
EEAEER REMSNE T [S16C~850C  250<C ¢ =300 0000 M. ke 8 8 8 o2 25 ¢ =100
&) 1. (BOEERS—AfETHED, AR TR, MRERETCAS 7 o TESFEEEI DL,
2. (Do [REMEMLSCLE0] OER2WVTIRAES ¢ 200mbl T T, FIEREFEAL DI 20T
(3) S B RAEH s c~5500) o EMEZETS,
(a) KEIL
AT a (PRE) 2041 0000 ke 3, 860 3, 860 3, 860
KEgSs (PR 20~50 £000 ke 3, 860 3,860 3, 860
&AET A (PBE) 50~70 0000 ke 3, 860 3, 860 3, 860
KiEdh (PH) 205 0006 ke 3, 860 3, B60 3, 860
HEIA (PH) 20~50 0000 ke 3, 860 3, 860 3, 860
K= (PR 5079 0000 ke 3, 860 3, 860 3, 860
A=A (L7E) 203K 0000 ke 3, 860 3, 860 3, 860

183

kk16_HEHRERiE s 14/16




(B4 ¢ 1)

HEEK| e
i il e S O Mt -5 1 I 3 NNV %

AREL A (LE) 20~50 0000 kg 3, 860 3, 860 3, 860
A=A (L) 50~70 0000 ke 3, 860 3, 860 3,860
KRG T A (CEE) 105678 0000 kg 3, 750 3,750 3,750
AIET A (FEHE) 10~30 0000 ke 3, 760 3, 750 3, T60
) FEkE T A DB R ERE. RO me Ci D,

L SHE:AgIA (FrRTV—FR)

2. BEEE D 147N/ mn2 (150kg cm2) BLE

3. BARE:BRIETERX%

1. HETEEORT : 300% 8L

5. IEfE : Low TEEW~80

6, H&E:1.25g , cnd

(5) Nyxy (FrdL)
SNyFr (HaETh) 500 10 0000 0./ % 3, 790 3, 790 3, 790
Ry v (El=h) 600 10#~20% 0000 [ERa: 3, 430 3, 430 3,430
Ay Er (HlAh) 700 108K 0000 M # 5, 230 5, 230 5, 230
M Ey (BT 700 108 ~208 0000 "B/ #& 4, 500 4, Koo 4, 00
Ny Er (HRETh) 800 LOFCEKTE 0000 M./ # 7, 520 7, 520 7, 020
Ry Xy (ffdh) 800 H0F~204k 0000 M. &% 1, 200 7,200 7,200
SNy F (HFRTH) 000 LORCHRE 0600 M. % 9, 000 9,000 - 9,000
o ¥y (FETA) 900 10#r~204% 0000 M,/ # 8, 110 8,110 8,110
Ny X (ERTA) 1,000 10Hski 0000 M./ % 9, 910 9, 510 9,910
My (BT A) 1,000 108 ~208 0000 Ml % g, 000 B, 000 8, 000
sy Fys (BpE T A 1,100 1083w 0080 o # 10, 800 10, 800 10, 800
REPEPHEEERS) 1,100 10#~203 0000 B/# 9, 910 9, 910 5, 910
My Fs (HREh) 1,200 108N 0000 [ % 11,700 11, 700 11, 700
Ao Er (BHRETH) 1,200 10fr~208 0000 M. 10, 80¢ 10, 800 10, 800
Pludy (ERIA) 1,350 1040FEH 0000 M. 13, 90C 13, 900 13, 500
Rody (BRAMN) 1,350 104L~20% Q000 M. B 12,600]  12,600] 12,600
Ry ¥ (GETH) 1,500 108k 0000 M./ # 14, 400 14, 400 14, 400
Mo F (GEIA) 1,500  lofr~20%% 0000 BAR 13, 500 13, 500 13, 500
Ry gy (BEID) 1,600 108km 0000 [P o 15,600] 15, 600] 15,600
SRy %y (BN 1,600 10B~204L 0000 B # 14,400] 34,400 14, 00
SNy ¥y (G R) 1,650 108K DO0G B & 17, 600 17, 600 17, 600
SAyx (Falkdh) 1,650 10F~20# 0000 B 186, 200 16, 200 16, 200
HRydy (BRlRAA) 1,800 10fc kT 0000 M./ # 18, 400 18, 900 18, 600
Ry¥r (BldA) 1,800 108~20#C 0000 M. # 18,200 18,200 18,200
Ay xy (BEETA) 2, 000 10HCHRE 0000 M. # 21, 600 21, GOC 21, 600
kk16_ R fiE.xis 15/16
CHEff : FDD)
Bk e BN R T gy e
b 3} IH1H THIH | 11A1H

HRw ¥y (BRI 2,000 10%~204% 0000 B % 15, 00 15, 800 15, 800
HNyFy (ERIH) 1,800 X2, 600 10# A 0000 M. % 10, 80O 10, 500 10, 800
Ry (RN 1, 8002, 600 108 ~20%% 0000 M4 9,410 9,910 9,510
SNy F (FERTS) 2,000 2,900 1084 0000 B % 10, 800 10, 800 10, 800
Hud (ERIL) 2,000 X2.900 1047 -~208 0000 M # 11, 760 13, 700 11, 700

184

kk16_ S .ds 16/16



